DfHGTI CTET /| STET 2023

MATHS ZA

.\

(HCF & LCM) \ '
ot Tt # U9 T ueHi & 4

CTET /STET &1 @i uﬁwaﬁ??r:m'a?ﬂ?
€T TOPIC EXPERTaimeI : F'

BY MATHS GURU ((con) 06:00 PM




= reror CTET/STET 2023 [CTET)

Q 10,15 AT 20 T ToHo

%’)

i) What | | the LQI\/I of (a) 60

= (b) 40

D = (2R (c) 30

oo ) (d) 20
03 x5



§I12ToT CTET / STET 2023 [UPTET]
Q.,Zéu 36991 60 FT HoHo FT

(%d\% tlslereAﬁl-'Fle oﬁ>2<




 fPT2TST CTET / STET 2023 [CTET]
Q4,5 3 6 F TIH THTTEE T9T 5,6 T
10 mgﬂ@wqcﬁ% ST T &
n

Q. Difference between the least common
multiple of 4,5 and 6 and the least

commion Iviyltiplerof S)6-andA0Ys:
LCM% 6@ {%30

PN L (b) 60
\ @ (c) 15

(d) 45



fOV2ToT CTET/STET 2023 [UPTET]

Q. TT HEIATALFT /.9, AT 4.
FHLT: 13 AT 1989 &, TS T

HEAT 117 Bl a7 TH HEAT &
Q. The HCF and LCM of two




fOV2ToT CTET/STET 2023  [CTET]

N N\

Q. 7 TIH ST HeqT FT 2, R )
12,16,24 3T 36 T AT o I< TAF 90T
"9 a9 BATe?

Q. What is the least number which
i dved 18

|eaV = 1 CTH | ‘ = Seféa)




JIVoToT CTET/STET 2023  [UPTET]

Q. 3T FEATAT T AT

5:6 g 3T IhT HCF, 12
2 %%@%l 39T LCM 2:
Q. The ratio of two
LCM = Herx @o«ﬂw nbers/is, 516 and their
H

16, They (@NGs:
| (b) 72




§9T2TGT CTET/STET 2023 [UPTE
Q. =T HEAT T HE THTTASE 8 qoIT

mgw@ T 432@)&'@r U G
48 g T TELT HEAT B

Q. The HCF of two numbers is 6 and
6 (F X Lov =thei ‘ é2 If one of the

i

ﬁb54




fPV2ToT CTET/STET 2023  [CTET]

Q. d9 HHeZe 20 g5, 30 HhUe
TAT 45 HHUS & Feqa ol 9L &I d 3T gl
3T AT ST 6 S T THT &3

2@30 45 3

an interval of 20 seconds, 30

Q. Three searchlights are flashed at
5 seconds seconds. The time

" F=v=/seconds
(b) 90

= _g#rpue/seconds
(c) 120

gsve/seconds
(d) 180



f9V2TGT CTET/STET 2023  [CTET]
Q? Q. A 4,20 T 28 %

—————

H.9. (HCF) 9T <1.9.

L1XS (LCM) T TNTHA g8

Q. The sum of the HCF
X7 o




fOV2TGT CTET/STET 2023 [UPTET]

Q. 37 H=IU 3:4 & AqaTd H

gl 39 oHo FIT ToHo FI

I

iwdhh Zjé’l HEATAT 1
E ;:T

Q. Two numbers are in the
ratio 3:4. The product of

=
D= 7K13 rSW'" %) o8



fPV2ToT CTET/STET 2023  [UPTE
Q. 7 7.9, (a,8) = 4 AT 7.4. (a,8) =24 |

o, e maeE )

Q. If HCF (a,8) =4 and LCM (a,8) =24,
then 'B(@:XLCM = ‘oal«c:l’f?hwh(@) (a) 14
¢ X 22D




f9V2T1oT CTET/STET 2023  [CTET)

.

e

2 1]j2 15, 1Q @qaald|ﬂa|¢|ﬁu| STl

T a7y 10, 12,15 &<

ot fa9TsT 31, 2
Q The legst number
which is a perfect square

arag @@Iﬁ@ %;ifle by

b) 900
( )3600

(d)
2500




PV 2TST CTET/ STET 2023

[UPTET]

2 Q. Ffe 12 2+4p-
(3”8”'?) < RQ%)J%W@ID;H&:[@(:JDZ)
n

§| add d I oY
Q) +P - ’2) +‘*‘f‘" Q If HCF of (p2-8p+12) and

p-a), then the

(a) -6
—b) 2
(B
(d) 6






 fPT2TST CTET / STET 2023 [UPTET]

Q. T STk AT5E HH9: 30 HHUE, 45
N\ 20, 15, 60,120 #rmz, 60 #7120 Fws & wTeT
o\ 5 45 = ébﬁ%h—cré‘cﬁélaﬁmﬁiﬁﬁmaqﬁ IR
| 7T 2 R EAT g, A1 HT U B HET I AT
]S,QB)IS)BDH’%%ﬁ':
3 Y L'S/ )5/ /SQ' Fo tra(s%: lights give red signal in

Oy v b e
55 < e it
| O \ \“seconds

(c) 300 IFue H/ in 300
seconds

(d) 360 &= # in 360

<)




 JPT9ToT CTET/STET 2023  [UPTET]

Q. T &Il & HgaH AT 9
HCF" THAH THIS T FHHL: 12 AT 72 B

LC/VI @ RN H@q@r FT 6 60 BT, AT

/ STH § Tah AT g it ?

Q. The HCF and LCM of two
Q( ‘]‘ b 60 numbers are 12 and {2
respectlvely Ifth m of these
Q)ﬁ]efzof the
e’?\ﬁ?);’24
Xc) 60

Xd) 72




fOV21oT CTET/STET 2023  [UPTET]
Q. Ife X2+px-q TAT 5x2-3px-15Q F

(HETw/AEITEcH (X-3) B, a1 p T q &
qT T g ?

Q. If the greatest common factor of
X2+pX-q a x-15q s (x-3), then
what will be thevalue S>of p and q? (@) (5/3), 4

| 0 5/\‘ +CH. & (b) 4! (-
—_—— -andll 3/5)
(C) (-5/3),
4
(d) (-5/3),
-4







